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TFEARE R No.3
BB 5 PN we

B4 JEz D BA B D & i BA JEE D BA A
1 R BE 2 KiEHITERITOKBIAIRSST 3.8 12600 2 27 10900 4 48 12700 1 47 13.000 1 16.0 49.200 1
2 ] h3  KiEH7ERITOKBIAIRSST 3.6 12700 1 35 11400 2 4.8 12.000 2 4.6 13.000 1 16.5 49.100 2
3 x=EH 20 3 KiEHITERITOKBIAIRSST 3.4 11950 4 3.4 11150 3 45 11.800 3 43 12750 3 156 47.650 3
4 HE&XE 3 KIEHITERITOKBIAIESST 34 12100 3 34 11700 1 41 10750 6 4.1 12500 4 150 47.050 4
5 AHEE i2 B L /\WEBAIESST 34 11950 4 25 95850 6 4.2 10250 9 40 11.600 5 141 43,650 5
6 EHAE 1 Iy B R A Y 34 11500 12 3.2 10800 5 4.2 9.800 11 3.9 11400 7 147 43500 6
7 AR DY &3 SEINO.GYM 34 11850 6 1.7 9.050 7 39 10950 4 35 11450 6 125 43300 7
8 HH RKE g2 E/NEARIRIST 34 11700 8 15 8250 11 3.8 10.850 5 3.9 10.050 13 126 40.850 8
9 ERXEK 3 SEINO.GYM 34 11650 11 15 8400 10 3.2 10.000 10 3.3 10.750 9 11.4 40.800 9
10 =5InA t2 E/NEARIRIST 34 11800 7 08 7100 16 3.5 10550 7 3.8 11.050 8 11.5 40.500 10
1 RERA KA &3 iE)IAIEY ST 34 11700 8 22 8600 9 39 8650 16 3.5 10200 11 13.0 39.150 11
12 H S BARX &3 M E/\BARIRIST 32 11300 13 15 7600 13 3.2 9700 12 3.5 10.300 10 11.4 38900 12
13 fgi8 FIR 1 B B RA Y E 20 9200 17 1.6 8800 8 4.0 10500 8 3.0 9.750 15 10.6 38.250 13
14 &% P &3 I BR 1 =TRIEIST 32 10350 15 1.2 6650 19 3.7 9.000 14 3.5 10.150 12 11.6 36.150 14
15 L=t S &3 BRI =TREIST 32 11.700 8 2.0 6900 17 29 7.950 17 3.4 9450 17 115 36.000 15
16 3 =R &3 A= & MAVE - ¢ 1.6 9.400 16 14 7.450 15 2.9 9200 13 2.7 9800 14 86 35850 16
17 B BTt H2 Iy B R Y = 26 10400 14 1.6 8050 12 3.1 6.600 20 27 9.700 16 10.0 34.750 17
18 1tE %A i2 I B R 22 Y 16 9150 18 14 7.600 13 2.5 8900 15 2.2 8700 18 7.7 34350 18
19 # 0 #ERE #2 R —LFEISTHE 1.6 8850 19 08 6750 18 2.2 6700 19 25 8600 19 7.1 30.900 19
20 Rk KX 1 I B2 R 22 Y E 16 8750 20 0.7 6600 20 21 7300 18 1.9 8200 20 6.3 30.850 20
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